XYZ_17M1 YB-Normspektralwert-Erregung; Y,,=1
B17m1E,0(A)= log 7M1, 6M/(Zw/ YY1 7m1E,D(M)]
m1E,DM)=[0.517m1E, o(N)+0,5M1 7m1E, D(M)]

£ 0\)=S7m1e,0(N); E0, D65
X17M1E,0-0,3333; 0,3190

Y17M1E, p=0,3333; 0,3324
3717m1E,p(\)=100,00; 104,8
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B17m1E,0(A)= log 7M1, 6M/(Zw/ YY1 7m1E,D(M)]
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£.0(M)=s17m1E,0(A); E00, D50
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2Z17m1€E,0(M)=100,00; 80,14
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B17m1E,0(A)= log 7M1, 6M/(Zw/ YY1 7m1E,D(M)]
1E,0(M)=[0,917m1E 0(A)+0,.5M 7m1E D]
£.0(M)=s17m1E,0(A); EOO, P40
X17M1E,0-0,3333; 0,3679
yl7MlE,D:O'3333; 0,3830
2Z17m1€E,0(\)=100,00; 64,99
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B17m1E,0(A)= log 7M1, 6M/(Zw/ YY1 7m1E,D(M)]
wm1E,DM)=[0.517m1E, o(M)+0,5M 7m1E, D(M)]
£.0\)=87m1e,0(N); E00, E0O
X17m1E 0=0,3333; 0,3333
yl7MlE,D:O'3333; 0,3333
571 7m1E p(\)=100,00; 99,99
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B17m1E,0(A)= log 7M1, 6M/(Zw/ YY1 7m1E,D(M)]
Yazm1e, 0A=0.5 1 7m1E, o) +0,8M 71, p(A)]
£.0(M)=s17m1€,0(A); E00, COO
X17M1E,0-0,3333; 0,3188
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B17m1E,0(A)= log 7M1, 6M/(Zw/ YY1 7m1E,D(M)]
\vi1e,DM)=[0.5117m1E, o(M)+0,5M 7m1E, D(M)]
£.0\)=87m1e,0(N); E00, POO
X17m1E 0=0,3333; 0,3530
y17M1E’D:0|3333§ 0,3561
57171 p(\)=100,00; 81,63
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B17m1E,0(A)= log 7M1, 6M/(Zw/ YY1 7m1E,D(M)]
m1E,DM)=[0.517m1E, o(M)+0,5My 7m1E, D(M)]

£.0M)=S17m1E,0(N); E00, QOO
X17m1E,0-0,3333; 0,3163
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